|im _N,(J = PC)

N> N

(T—(ﬂ) = S FaP0)

5 - lOSM - - Z‘ P(v) 103[?{\)] = —J\?(?I"\ \osiv(plxi}dréx

Sm = 0\032 (|o31 ! sjle)

for 2

3 -
E ’—"i:kgj‘t"a T ( kgf\,ﬁ..loaj/‘()

as E wceass D) neeeofts

Ist low dEs = -dE dEp= Ta -JI5
Pla 3| 2l d5+d3D Uz~ T, a5
JEp+dfy =0 , TydSe+TRd5§ =0 = a5, - - Zhas,
f _/
%70 > 15 _s -0 P m
el-sa. 14y ?L |,
JfA?D NP\ :ﬂ'

dE,20



ol

[T N’
AL N urbes D‘Q = Q
or(gsaen@*i's ﬁ n{\-‘

N‘-zN €§U whan M S )aga, 1

UW\W 0" ufmgwx\*) ?

i

\(SC/ = N\@N* i2(\;\3&: = )\“93'\' - ﬁNh(\ojP, ‘”LBN) = - Né P;laﬁ = NS

NOXimi2e 5 i xder 4o MORINIZE (g mber oF‘ oprqu\"\'&

U Sli\j L_odca\de lVlul-leiers

-S(p) > + 2 wig(p) -7
61:2??‘(‘;0 2‘&‘3?”&22'&-{3*-e’[é‘}‘E"‘&?}=r—“(f,-)

62:2\5;9;_4;7:0 TFQ = 0 Hra+p B =0

/\/

I?jf. = = (1) —bE;

Cmg-\'fcﬁt\’k

Sl = L e'%E-'\=‘ < e ) gz(g)

‘ i zlp) = 38 ="'Ze,‘“5
|

—ie\aE'E - 1 o=

= 1 l —-Z'——B— = £ - _ 9'32



Volme =Y

Nunber of
PorkC‘CS: N

States

1 P




S=pE +\ - E
% 0g2 == 4_,[032 — E-TS-= "'T(DSZ

—
A=Helmh0bf
&menesm
2‘5[ QEI _ 9E[ 85
VIg ™ avIr T 83|, oV
L
d T dE = - PAdX = - PV > QZ;—/—[’/
nens PaAVN
— cojope by
A ?ormukf‘)'
QE' 2 93 D _ _oE
V|, " 9v avl| = i 93
s T 98|, oV + 2 T=—=9p._2 (E-
v oV oV | P N (E 'TS)‘
- _ o
N1
=T 9\_‘952
oV ¢

£ 3“ N
2 [t i« X H =gz -1t gl

Mol
%033=% = PV=NT = P-»T Jﬁ(@
7\50’4
<>« (K?> <>< 2x<x>+<x7> {&- (Q (8
R A N i AR S
= T B
= T (k)




E=S L +7 Ul

O>m
j U (14,-xal) dx, &, = VU,
fuuvnd’x =, ~\U

3N

\ e N
N dX cl-‘)

_eS £
Z = |1 . F%m _&E\U(IXQ-XA\ f _%2_%\': /

e Jx e AN N

A s
_ ] —lee BZZn o[”:: / Y Ulbeen)) _ / 23 Ulixesa)

‘%S-_ U( \’(n-)(n.\) 3 o=
/6 dy — l B‘—Z—MUHX“_X"“ 3 2 Ul1%a—%)
v < d¥ = |- asm d3x
\ A
= _ U(l’(l")‘ | N-6 2
} ﬁ/' N’) ddodx = (- BNy,
N DAY

¥
25:z<h%§%

\032: log 2°+\33(l/ %—U> = log 2, — BN

(\@(\'x) ~ — )

2
_ _Oyz _ 2\ Ny _ 3 3
E 9% Y o ° 5 NT + N —%UD :M[IT—LTP\%

Eﬂaz) p= (G‘l‘ic({



~




Bl 7 A queatt
%*ﬁw LA C\OSS-'@‘\

(ntd
hw =% — coodsve O

(
4\
2 X
T 1\\\« —R_ph gp
E_’;((\wv\))AH' ()L=e_ P Y=< )
ft of s N
H of downg:m - -Q;(r\vn%p\l'\ N n  N-qa N
=) e = L eI T
nAm =N mn M .
v K comat [how sk
hge (H’ mkmg) el
H mogetc fild (?—-FM+ &) - ( M)ﬂ U= 2 ke
=
<E>’=‘“,AH<M}

9\032-
- SF :“\\}AH*&\V\(P#{-():E - A = w—\—oﬂ\n(%MHS
M\ \down )
B0 M-

I

p—=0 Mm—=o0




E_='_JO_(\)U—(1)——$? E = —J Zﬁo\¢(a4{)

! H e
S\)am&} —= doesn d\aﬁe U‘j‘\)

S S ()
S e _ B = 2cos

p_ Pwr_ _ | g=___ L IS B L S hen(py)

i i . N-
2=y LIS 12@85‘%»- = 2 (2cosh(B3))

A =4 07, = Heah(p3)

0
Tiet o - - - G_"*ﬂw - Lp Mo - '/"“'4\7 :E'O“Mﬁx)]
\./:—- Mo

wgh T
M#hof h cjh

T =4oh (28dTT T%_ Jonhty)
’3._: :~|-mh(J)

N

f\




T = 4] 27 ) 8]

T

3 = l-cpdq( 3_(&,&\) = =243 crititol \'empa‘oc’tvf‘é,
FIRY

)\&z-\-\
+ + + T =0
£ SE—— > T
Tear
N/€“=l

T =_\ o (,Q,Azc\e

(T"=+1 tpa s o P¢~l~f¢£¢







